StorageLive(_5)
StorageLive(_ 6)
StorageLive(_7)
StorageLive(_8)

8 = &(*_1)
StorageLive(_9)
9 = 3
7 = commit::Commit::is ok(move 8, move 9)
return
1
6 =& 7
StorageDead(_9)
StorageDead(_8)
5 = std::result::Result::<i64, errors::AtomicError>::is_ok(move _6)
eturn \unwind
2
drop(_7)
14 (cleanup)
return
drop(_7)
3
StorageDead(_7)
StorageDead(_ 6)
switchInt (move 5)
otherwise |0 unwind
4
StorageLive(_10)
StorageLive(_ 11)
StorageLive(_ 12)
12 = 4
11 = std::option::0Option::<bool>::Some(move 12)
StorageDead( 12)
FakeRead(ForMatchedPlace(None), 11)
13 = discriminant(_11)
switchInt (move 13)
11
1 otherwise 0 = const () unwind return
goto
6 7
falseEdge unreachable
imaginary real
8
StorageLive(_14)
5 14 = ((_11 as Some).0: bool)
— StorageLive(_15)
_10=0 15 = &(* 1)
goto StorageLive(_16)
16 = 3
10 = commit::Commit::store(move 15, move 16)
return unwind
9 \
StorageDead(_16) 15 (cleanup)
StorageDead( 15)
StorageDead( 14) drop(_2)
goto
10
StorageDead( 11)
StorageDead( 10)
0 = const ()
goto
return
12
StorageDead(_5)
drop(_2)
return unwind¢
13 16 (cleanup)
return resume
fn commit::Commit::minimal match(_ 1: &commit::Commit, 2: std::result::Result<i64, errors::AtomicError>, 3: 164, 4: bool)

let mut 5: bool;

let mut 6: &std::result::Result<i64, errors::AtomicError>;
let 7: std::result::Result<i64, errors::AtomicError>;
let mut 8: &commit::Commit;

let mut 9: 164;

let 10: ();

let mut 11: std::option::0ption<bool>;

let mut 12: bool;

let mut 13: isize;

let 14: bool;

let mut 15: &commit::Commit;

let mut 16: 1i64;

debug self => 1;

debug i1 => 2;

debug j => 3;

debug k => 4;

debug k => 14;

-> ()



